20245F 4 A~20245 98 ZHIEHLVH - AX1-03
— N ~ =
AT=33085[h1~8H27-%h5 2]
44 58 68
B A N 7K A #® |t |8|] B N X A £ |f| 18] B N 7K x £ |*
1 2 4 5 6 2 3 4 1
EPED| AH HPPED |BRasTs EPED| AH
7 8 9 10 11 12 13 5 6 7 8 9 10 11 2 3 4 6 7 8
BPED| hH |BPEBV|EPED |anarTs BPOE2| hd |BPERV|EES |snasTs bPE3| AH HOE3 | mnanss
14 15 16 18 19 20 12 13 14 16 17 18 9 10 11 12 13 14 15
OPES| Ky bPES | swasTs bPES| K bPES |swasTs bE3| KH [BPERL|BPED |ssesTs
187 1T
21 22 23 24 25 26 27 19 20 21 22 23 24 25 16 17 18 20 21 22
B3| ARH [BPERL|BPED |z8arT5 HEB| RH |[6PERL|BPES |smesTs bPED| AH : bPES | swasTs
87
28 29 30 26 27 28 29 30 31 23 24 25 26 27 28 29
EPED| KA EPES| KH | KRH |BPESD|sm28T5 EPE3| hd |BPERV| EPES |anasTss
30
78 8H 9H
B A N X X = |t 18| A N 7K A = |t 18| A N 7K X £ |t
1 2 4 5 6 1 2 3 1 2 3 5 6 7
EPES| KH B3 |snarrs EPE3 |snaxTs OPES| KH BIPE3 |snanrs
7 8 9 10 11 12 13 4 5 6 8 9 10 8 9 10 11 12 13 14
EPED| AKH |BPEBLBPED |snasTs OPES| KM BB |ssasTs BEPEB| K |EPERV|HPESB | anaxTs
14 15 16 18 19 20 11 12 13 14 15 16 17 15 16 17 19 20 21
bPES| A bPE D |anarTss BED| K [BPERL|BPED |snarTs H5PE3| R HOE3 | smaxss
187 1837
21 22 23 24 25 26 27 18 19 20 22 23 24| |22 23 24 25 26 27 28
EPED| AKH |BPEBLBPED |snasTs OPES| KM : BEB |ssnasTs EPE3| Ky |BPERV|HPES | snesTs
87
28 29 30 31 25 26 27 28 29 30 31 29 30
EPES| KH | R EPED| AH |BPERL|BPE S |snarTs EPED




20244108 ~20255% 3 A CHINEDL V5 — BX1-03
— N ~ =
AT=93085(bB1~H27-H5 2)
1048 114 12H
B A N 7K A £ || |18 B N 7K Y, N £ |t |8 B N 7K A £ |t
1 3 4 5 1 2 1 2 3 5 6 7
R HEPE B | ssarTs BEOETS EPES| KM BB | snarTs
6 7 8 9 10 11 12 3 4 5 7 8 9 8 9 10 11 12 13 14
EPED| AH [BPERL| HEPOES |mnasTs EPE3| AhH EPED | anazss EPRE3| AH |BPERVL|HPEDS |anarTs
13 14 15 17 18 19 10 11 12 13 14 15 16 15 16 17 19 20 21
bPEd| AKH BB | asnarTs HEPE3| hkH |BPEAV| EPEB |anasTs HEPE3|  AH EPE3 | smasTss
187 187
20 21 22 23 24 25 26 17 18 19 21 22 23 22 23 24 25 26 27 28
EPE2| KA |BPERV|EPES |snasxTs HPES| KH : HPE B | sxarTs HEPE3| KH |BPERV|EPEB |asaxTs
BY7
27 28 29 30 31 24 25 26 27 28 29 30 29 30 31
bPEd| KHy | Ky |BPED EPE3| KA |BPERV|EPES |anaxTs HPES| KM
1AH 28 38
B A N 7K A £ || |18 B N 7K Y, N & |t |8 A N 7K A £ |t
1 2 3 4 1 1
R+ | AP | KRH
5 6 7 8 9 10 11 2 3 4 6 7 8 2 3 4 6 7 8
HPED| KA |BPERV|EPED |ssarTs EPES| AH HPES |smarTs £33 AH HOE3 | szanTs
12 13 14 16 17 18 9 10 11 12 13 14 15 9 10 11 12 13 14 15
HPES| KH HPPE B |ananss HEPE3| KM |BERV| HPES |anasTs EPE3| RH |BERV| HPES |asesTs
1877
19 20 21 22 23 24 25 16 17 18 20 21 22 16 17 18 20 21 22
1Y 18Y7
26 27 28 29 30 31 23 24 25 26 27 28 23 24 25 26 27 28 29
OPES| Ry | K |BPES|5=aET5 B3| hH |BPERV| EPED |s8asTs BPED| hH |BPERL| EPED |axesTs
30 31
HE3




